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1.
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asked to do so.
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T $ R Sw @ R R @
G 3TEST TADT -9 § 2

(A) TR JoTe!

(B) fyu feen

(C) 91G Hoedl

(D) IR Red

fgu Rfars @ gerar @ar 8 ?

(A) f$u RICH & &9aT 50%-60% a6
greil 2

(B) TSU RICH &I &HA 90%-95% dH
greil 2

(C) f3U RIeH @ g9 60%-75% dH
gl B

(D) fSu RieH @ T&aT 95%-100% TH
B

el Rierg & fbqm o 98ie BT & ?
(A) 50% I
(B) 30% I
(C) 70% I

(D) 40% UHI

AG-201

(3)

Which is the best method of irrigation for

localised application of water ?

(A) Sprinkler system
(B)
(©)

(D)

Drip system
Flood system

Fogger system

What is the efficiency of drip irrigation ?

(A) Efficiency of drip system is as high

as 50%-60%.

(B) Efficiency of drip system is as high

as 90%-95%.

(C) Efficiency of drip system is as high

as 60%-75%.

(D) Efficiency of drip system is as high

as 95%-100%.

How much water is lost in surface

irrigation ?

(A) 50% water
(B) 30% water
70% water

(©)

(D) 40% water

Set-C



4.

HH-9T U Req &1 6 gca 78 § 7

fym
RRESGED

BIRR
ftheex

(A)
(B)
(©)
(D)

fyo gomell & for omed wad B
g7
(A
(8)
(©)
(D)

(C) =M (A) 3R (B)

(D) SWa ¥ ¥ IS T

7 R el & @it Bt @ T
off ?

(A) TWH

(B) goNIgd
(C) HSFTRGR

(D) WA IR SFRT

AG-201

(4)

5.

Which is

system ?

not a component of drip

(A) Drippers
(B) Emitters
(©)
(D) Filters

Fogger

Which is an ideal crop for drip system ?

(A)
(B)
(©)
(D)

Paddy
Wheat
Chrysanthemum

None of the above

What is another name for a sprinkler
irrigation system ?

(A) Overhead irrigation system

(B) Overhead shower system

(®
(D) None of the above

Both (A) and (B)

Where was the drip irrigation system

discovered ?

(A) Iran
(B)
(©)

(D)

Israel
Madagascar

United Arab Emirates

Set-C



10.

11.

AR A 3R Xl g B e Rie
) B R S 2 7

(A) fgu

(B) d13

) fosam

(D) e

7g FEiRa &< @) ufbar b we R
H § 3R fohe ol < |

(A) Rarg Ao

(B) HIA Il YaEH

(C) TcT SYINT AT

(D) STda # & Big AL

BHA H ORI S @ fee arawef
P 7§ ?

(A) 50% Y&T T4 g TR
(B)
(©)

(D)

40% FaT THI g TR
30% el I g TR

60% HaT T4 g =R

el A0 @ e Ay -4 & ?

(A) T

(B) eom
©) fsw

(D) SHF wA

AG-201

(5)

10.

11.

Which method of irrigation is suitable for

undulating land and sandy soil ?

(A)
(B)
(©)
(D)

Drip
Flood
Sprinkler

Thala

The
irrigate and how much water to apply :

process of determining when to

(A)
(B)
(®)
(D)

Irrigation scheduling
Efficient water management
Water use planning

None of the above

What is the ideal stage for applying water
to the crop ?

(A)
(B)
(©)
(D)

50% soil moisture depletion stage
40% soil moisture depletion stage
30% soil moisture depletion stage
60% soil moisture depletion stage

Which one is the volumetric method of

water measurement ?
(A)
(B)
(©)
(D)

Furrows
Sprinklers
Drippers

All of the above

Set-C



12.

13.

14.

15.

e M Ol Yarg AU drell Syl
B & Sl Gell Al H S YaE Bl
e 7

(A) URRTel HefH

(B) A W

(C) T (A) T (B)

(D) SWE ¥ | B &

TR @ 919 3R S @ forg dH-91 fafy
SUgEd & ?

(A) g fafy

(B) &R fafy

(C) dig fafr

(D) SWE & W B &l

fosara Riars yomel ® fhaar @ am
ST 8 7

(A)
(B)
(C) >2549dR

(D) SWa ¥ ¥ I3 T
fyu Rrcw o1 RT M @ B ?

25 R
<25 9dR

(A) fewa Riwen

(B) & worel

(C) HI (A) 3R (B)
(D) SWad # | BIS T

AG-201

(6)

12.

13.

14.

15.

Which is the most common water flow
measuring device which measures water

flow in open conduit ?

(A) Parshall flume
(B) Venturi flume
(©)
(D) None of the above

Either (A) or (B)

Which method is suitable for lowland rice

and jute ?
(A) Drip method
(B) Canal method

(C) Flooding method

(D) None of the above

How much pressure is applied in

sprinkler irrigation system ?

(A) 2.5 bar
(B)
©)

(D)

< 2.5 bar
> 2.5 bar

None of the above

What is the another name of drip

system ?
(A)
(B)
(©)
(D)

Trickle system
Droplet system
Both (A) and (B)

None of the above

Set-C



16. 90 SR 9 T & Adem o ® @@
g7
(A) 05-11/h
(B) 1-41/h
(C) 5-61h
(D) 7-81/h

17. fos®@ yomel ¥ Wd fdaRor @ ) @I
g7

(A) 1000 I/h
(B) >1000 I/
(C) <1000 1/

(D) SWE ¥ | TS el
18. wael REE @ o 4 fosaE fay 4
g @ q9d R/ R 2

(A)  40%-50%
(B) 25%-50%
(C) 70%-80%
(D) SWad # | BIg T2

19. A o & ewar ffR el ©

(A) A 5 RIE 9T )
(B) Ml @ Wyl W
(©) T (A) 3R (B)
(D) SUYa H A Bl 7l

AG-201

(7)

16.

17.

18.

19.

What is the discharge rate of water from

per dripper ?

(A) 0.5-11h
(B) 1-41h
(C) 561h
(D) 7-81h

What is the rate of water delivery in

sprinkler system ?

(A) 1000 I/h

(B) >1000 I/h

(C) <1000 I/h

(D) None of the above

What is the saving of water in sprinkler

method as compared to
irrigation ?

(A) 40%-50%

(B) 25%-50%

(C) 70%-80%

(D) None of the above

surface

The field capacity of a soil depends

upon :
(A) Capillary tension in soil
(B) Porosity of soil

(C) Both (A)and (B)

(D) None of the above

Set-C



20. He &1 MY HEmEr B ¢ 20. Top of the weir is called :

A R (A) Ridge
B) TS (B) Head
C) BE (C) Crest
(D) Ud (D) Peak

21. fA=faRad 4 @ U ol Riag Al @ 21.  Which of the following is the quality of a

good irrigation method ?

U T & ?

(A) enford ISRe (A) Leached fertilizers
(B) 93l g SUA (B) Increased yield
(C) S &R & FH (C) Drainage troubles
(D) ¥aT 3TREA (D) Soil erosion

22. foefafgd & ¥ Gda REE amawgedar 22, Which  of the following is  the

correct formula for gross irrigation
&1 T G DA 8 ? J J

requirement ?

(A) C,—Re (A) C,—Re
(B) CIR + Leaching losses (B) CIR + Leaching losses
(C) NIR/N, (C) NIR/N,
(D) FIR/N, (D) FIR/N,

AG-201 (8) Set-C



23.

24,

25.

26.

g @1 aiffe Saar (Al @R ?

(A) BN I BAF &F /Fha R
&
(B) Y& Rifad & /@l AFT HAM &3

(C) TN Iy HHE &3/ Pg Nifer &3

(D) woha Rifgd &3/%d a7y HAE
&3l

el Riare fbad yeR @ e & ?

(A)
(B)
©
(D)
IREA™ REg yoIell &1 A1 M R/
g ?
(A)

(B)

A W N R

ycger Riars
weRrv RyErg
©) fwf R
(D) ¢ fRme

(A) TIGAR 999 & forv
(B) - @M & foru

(C) dUEHA & FFHT B
(D) Suga Wl

AG-201

(9)

23.

24,

25.

26.

What is the Annual Intensity of Irrigation

(All) ?

(A) Cultivable Command Area/Gross
Irrigated Area

(B) Net
Command Area

(C) Cultivable Command Area/Net
Irrigated Area

(D) Gross

Command Area

Irrigated  Area/Cultivable

Irrigated  Area/Cultivable

How many types of surface irrigation are

there ?
(A) 1
(B) 2
€ 3
(D) 4

What is the other name of perennial
irrigation system ?

(A)
(B)
(©)
(D)

Direct Irrigation
Storage Irrigation
Controlled Irrigation

Flood Irrigation

Mulch is used for :
(A)
(B)
(©)
(D)

Control of weeds

Saving moisture
Regulation of temperature
All of the above

Set-C



27. Y T4 T U & AR MG & G 27. The particle size of slit according to

AMHR é‘ : USWA is:

(A) > 0.002 . (A) >0.002mm

(B) <0.002 fH. (B) <0.002mm

(C) 0.002 ¥ 0.05 fA. (C) 0.002 to 0.05 mm
(D) 0.25%0.5 o, (D) 0.25t0 0.5mm

28. WS Bl B < oA @ 4 ATl H 28. Water harvesting in standing crop

el TS HEdd © between two rows is called :

(A) X I T GUE (A) Inter row water collection

(B) wdal [Memed (B) Surface drainage

(C) <IN Iel |8 (C) Intra row water collection

(D) WHI<R Sl 9§98 (D) Parallel water collection
29 HRFHT TEHRINH T 9= ER 29. The capillary adjustment is very sluggish

between :

G Bl & |

(A) 15 3R 30 qRY, (A) 15 and 30 atm.

(B) 31 3R 15 XY, (B) 31and 15 atm.

(C) 313k 41 dY, (C) 31and 41 atm.

(D) 41 3R 15 A1, (D) 41 and 15 atm.

30. W e fdvg W WS @ TH @1 qg 30. The moisture tension of a soil at

2T permanent wilting point ranges from :
(A) 7915731 (A) 7tol5atm.

(B) 15 ¥ 32 d1g, (B) 15to 32 atm.

(C) 73T (C) 7to 32 atm.

(D) 15 ¥ 45 d1g, (D) 15 to 45 atm.

AG-201 (10) Set-C



31. ffard o9a, §¥ a1 TR & aMScele & 3L The device used for measuring discharge

frde @ 999 & v ST by o= of irrigation channel, well or canal outlet

is called :
qTel SYBRYT BT BT Il B

(A) w3 (A)  Weir
(B) g (B) Notch

(C) R e (C) Meter gate
(D) SUgad JHI (D) Al of the above

32. U @ Ue dfie, W U He @l SMaRFall  32. A sheet of water, which overflows a weir

e 2, 8 o

A RR (A) Head

(B) =4 (B) Nape

(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H § I el (D) None of the above

33. A & Agd 9 fdgd @ T R @ 33. The basic formula to calculate the

7o G 3. discharge through weir is :
(A) Q=CLH (A) Q=CLH

(B) Q=CLHm (B) Q=CLHm

(C) Q=LHm (C) Q=LHm

(D) SUYa H A Bl 7l (D) None of the above

AG-201 (11) Set-C



34.

35.

36.

AG-201

& UG uel H Ao 1 W 4 FealR A
BIT & :

(A) FHTHER 7S

(8) famerct e

(C) SMIMPR 7

(D) d-UrIeH

Uh Gell el yare form fodfl At fawg
W YarE fRwar el geerdl &

(A) TR® yarE

(B) 3IReR a8

(C) TDHHN Hdre

(D) R-THHA T

gl o9d H UAE @ 9 fedd gRI
fFeiRa feam e & ?

(A) SRl & qF R

(B) HFT @ ¥ gN

(C) T (A) 3R (B)

(D) SUYa H A Bl 7l

(12)

34.

35.

36.

A contracted trapezoidal weir in which
each side of the notch has a slope of

horizontal 1 to 4 vertical is :

(A) Trapezoidal weir

(B) Cipoletti weir

(C) Rectangular weir

(D) V-notch

An open channel flow in which flow

characteristic at any point does not

change with :

(A) Steady flow
(B) Unsteady flow
(C) Uniform flow

(D) Non-uniform flow

The velocity of flow in open channel is

determined by :

(A) Darcy’s formula

(B) Manning’s formula

(C) Both (A) and (B)

(D)  None of the above

Set-C



37.

38.

39.

AG-201

e, e, Aerl 3R o Uigfoe 37,

Teel ¥ R 3 T B B R

ST D S dTell iRaT &
(A) a1

(B) fermd

(C) T

(D) <Xa§

TR S | pud RiEg & fog qfF o 38,

@1 SRR GRIe 1 g
(A) 0.05%0.25%
(B) 0.20 ¥ 0.40%

(C) 0.25%0.65%

(D) SWad # | BIg T2

<, el 3R e 1 9e U fFeikg 39,

PRAT &

(A) g o W
(B) &1 TR
(C) 7T FaF

(D) fagr &1

(13)

A structure used to carry out irrigation
water across the stream, canals, gullies

and other natural depression is :

(A)  Weir

(B) Notch

(C) Flume

(D) Gate

A recommended safe limit of land slope

for efficient irrigation in heavy soil is :

(A) 0.05 to 0.25%
(B) 0.20 to 0.40%
(C) 0.2510 0.65%

(D) All of the above

The relative proportion of sand, clay and

silt determines :

(A) Soil structure

(B) Soil texture

(C) Soil mass

(D) Soil volume

Set-C



40.

41.

42.

AG-201

q T S, T B AR NS & @ &
AR & :

(A) 0.002 ¥,

(B) <0.002 fH.

(C) 0.002 ¥ 0.05 fA.

(D) 0.5 1.0 .

Vel gt @ ARy SR W g §

(A) 30% 3 35%
(B) 35% ¥ 50%
(C) 40% 3 60%

(D) 50% ¥ 60%

gl & omadd & o/l & A ¥
I &

(A) G

(B) =9 Fgurd

(C) ®I FT T

(D) SWad # | BIS T

(14)

40.

41.

42.

The particle size of clay according to

USWA is:

(A) 0.002 mm

(B) <0.002mm

(C) 0.002to 0.05mm

(D) 0.5to1.0mm

The porosity of sandy soil usually ranges

from :

(A) 30% to 35%

(B) 35% to 50%

(C) 40% to 60%

(D) 50% to 60%

The ratio of volume of pores to volume of

solids is :

(A) Porosity

(B) Void ratio

(C) Particle density

(D) None of the above

Set-C



43.

44,

45.

AG-201

U B gaH R S @ TIEH @
HJUIT I HEl STl & -
(A) dicgd e

(B) Wfawice o
(©) gl @I feu

(D) SHIF T

AT gl §RT WSl & HU Bl /g W
FIRH RO G ATl oI 3 -

(A) BTEUIITS Tl

(B) BRI T

(C) ToEHIT VI

(D) SWa ¥ ¥ I3 T

BHIRNBT Tl T aqral & 9

BT B |

(A) 15atm.

(B) 31atm.

(C) 3latm. ¥ @

(D) SWad # | BIS T

(15)

43.

44,

45.

A ratio of mass of water to mass of soil is

referred to as :

(A) Volume wetness
(B) Gravimetric water
(C) Degree of saturation

(D) All of the above

Water that holds highly to the surface of

soil particles by adsorption force is :

(A) Hygroscopic water

(B) Capillary water

(C) Gravitational water

(D) None of the above

The capillary water is held between

tensions of about :

(A) 15atm.
(B) 31atm.

(C) More than 31 atm.

(D) None of the above

Set-C



46. D ey § SfaRied ¥ 9HNId: 46. Infiltration rate is generally lower in soils
of :
¥ Bl 2 |
(A) YR §91dC (A) Heavy texture
(B) ged! g1aC (B) Light texture
(C) H&gH d-rdc (C) Medium texture
(D) Suga H H Bl el (D) None of the above
47. fufauge |97 ST @ 47. The viscosity is measured in :
(A) ‘SIgd 3 (A) Dynes
(B) e H (B) Newton
(C) Tdisal H (C) Poise
(D) T (D) Joule
48. Wﬁ}-{ AT W YT BT dT1d oV THT ® 48. The tension of water at saturation
capacity is almost :
(A) 0 (A) 0
B|) 1 (B) 1
(C) 10 (C) 10
(D) 20 (D) 20

49. TH B WA o R PR BT HH W 49. The moisture content at which the wilting

21 o £ ok o W) o is complete and the plant dies :
(A) Wl T fig (A) Permanent wilting point
(B) SifcH R (B) Ultimate wilting

() fafeew ¥w (C) Wilting range

(D) SRRl U | YR (D) Temporary wilting

AG-201 (16) Set-C



50.

51.

52.

AG-201

QAT I Gga A & AR W
gl @ A BT AR T oAy o
CIRNIEDIRE

(A)  3dEA

(B) cTUdA

(C) Ra

(D) EeXwl

R # o @7 Ty R
(A) =

(B) U H

(©) T (A) 3R (B)
(D) Suga H A Bl el

ieed d&m g W SR @
e T e 2 |

(A) 1D TR

(B) 1% ®H

C) 19 P

(D) 29 ®H

(17)

50.

51.

52.

The downward movement of water

through saturated or nearly saturated soil

in response to force of gravity is :

(A) Infiltration

(B) Percolation

(C) Seepage

(D) Interflow

The movement of water in seepage is :

(A) Downward

(B) Lateral

(C) Both (A) and (B)

(D) None of the above

Darcy’s law is applicable when

Reynolds’ number is :

(A) Equaltol

(B) Lessthanl

(C) Morethanl

(D) Lessthan 2

Set-C



53. fa=foRed & 9§ @9-97 999 &7 w9 53.  Which of the following is the form of

37 precipitation ?
(A) aul (A) Rainfall
(B) R (B) Snowfall
(C) 3 (C) Hail
(D) SWa &l (D) All of the above
54, AEE A9 {9 YHR &1 guEmd g ? 54. Symon’s gauge is which type of rain
gauge ?
(A) RaifeT TR (A) Recording type
(B) IR-RPIfET TR (B) Non-recording type
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above
55. qMIpROT & 3Mhord b fov fog fafd & 55.  Which method is used for estimation of
SYINT T S7er & 7 evaporation ?
(A) I guic fafer (A) Water budget method
(B) il Aol fafdy (B) Energy balance method
(C) Y giUR fafgy (C) Mass transfer method
(D) Sugad F4I (D) All of the above

56. ogdbIe] &l SUINT fbdd doe & foru 56. Lysimeter is used to measure :
e S © ?

(A) AR (A) Evaporation

(B) ATHH-SWIT (B) Evaportranspiration
(C) drYHvSHT Td1q (C) Atmospheric pressure
(D) SUYa H A Bl 7l (D) None of the above

AG-201 (18) Set-C



S7.

58.

59.

60.

AG-201

IS BT AT ST € 57.

(A) FFBegMIcY g
(B) aATIHRUMNT gIRT
(C) EESMIK R
(D) SWE ¥ | FIg el

Yge 3UdTg I1dT & 58.

(A) SHM R YaRE |
(B) Al 3[YATE AR Y eR-YaTE |

(C) el 3varg iR R 4
(D) 9T 3R arefiaxvT |

URNHT HF $ad BIC ABR & ofd 98T 59.

&3 W AN Bl § o U & BT ©
(A) 50 km® ¥ &H

(B) 50 km? ¥ f®

(C) 5000 km? ¥ FH

(D) 5000 km? ¥ 3fferd

(C) fal¥re ewa
(D) SWad # | BIS T

(19)

Infiltration is measured by the :

(A) Infiltrometer
(B) Evaporimeter
(C) Hydrometer

(D) None of the above

Direct runoff is made up of :

(A) Overland flow

(B) Surface runoff and prompt inter-
flow

(C) Surface runoff and infiltration

(D) Rainfall and evapotranspiration

Rational formula is only appicable to

small size catchments which has an area :
(A) Less than 50 km?

(B) More than 50 km?

(C) Less than 5000 km?

(D) More than 5000 km?

The discharge per unit draw down at a
well is known as :

(A) Specific yield

(B) Specific storage

(C) Specific capacity

(D) None of the above

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, UoR a2l Hegerk

B o ST AT SHBT SYINT AT Ifoid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT S HUFROT & q= BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8



	AG-201-CoverC.pdf (p.1-3)
	AG-201-Set-C.pdf (p.4-20)

